
Removing and installing/replacing engine oil cooler  »»

PPrreelliimmiinnaarryy  wwoorrkk
RReemmoovviinngg  tthhee  ffrroonntt  uunnddeerrbbooddyy  pprrootteeccttiioonn

BMW Group - AIR: 2022-10-22 / 00:12
Dealer: 32711/06
Model: M240i
Development code: G42
Model code: 41CM
Lead type: 41CM

• VVeerrssiioonn  AA::

Remove screws (arrows).

Feed the front underbody protection (1) towards the
rear out of the bumper cover.

• VVeerrssiioonn  BB::

Remove screws (arrows).

Feed out and remove the front underbody protection
(1).

AIR - Technical documents https://myair-bdr.bmwgroup.com/air/faces/xhtml/tdoc/TdocDocumentV...

1 of 7 10/22/2022, 12:13 AM

https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml
https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml


MMaaiinn  WWoorrkkss
RReemmoovvee  tthhee  eennggiinnee  ooiill  ccoooolleerr

HHoott  ssuurrffaacceess..

RRiisskk  ooff  bbuurrnniinngg!!

• Perform all work only on components that have cooled down.

HHoott  flfluuiiddss..

RRiisskk  ooff  ssccaallddiinngg!!

• Conduct all work in the vehicle wearing appropriate personal protective
equipment only.

The work must be performed with vehicle care to prevent component damage.

Collect and dispose of emerging fluids. Observe country-specific waste disposal
regulations.

• VVeerrssiioonn  CC::

Remove screws (arrows).

Guide out and remove the front underbody
protection (1).

WWAARRNNIINNGG

WWAARRNNIINNGG

TTEECCHHNNIICCAALL  IINNFFOORRMMAATTIIOONN

TTEECCHHNNIICCAALL  IINNFFOORRMMAATTIIOONN

AIR - Technical documents https://myair-bdr.bmwgroup.com/air/faces/xhtml/tdoc/TdocDocumentV...

2 of 7 10/22/2022, 12:13 AM

https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml
https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml


• Loosen screws (1).

• Loosen screw (2).

• Drill out the rivet (1).

• Remove the damper (2).

• Loosen nuts (1).

• Disconnect the lines (2).

• Collect and dispose of emerging fluids.

AIR - Technical documents https://myair-bdr.bmwgroup.com/air/faces/xhtml/tdoc/TdocDocumentV...

3 of 7 10/22/2022, 12:13 AM

https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml
https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml


IInnssttaalllliinngg  tthhee  eennggiinnee  ooiill  ccoooolleerr

The work must be performed with vehicle care to prevent component damage.

• Loosen screws (1).

• Feed out the engine oil cooler (2) and remove.

TTEECCHHNNIICCAALL  IINNFFOORRMMAATTIIOONN

• Renew the sealing rings (1) from the lines (2).

PPaarrttss:: Sealing ring

M6X25

• Guide in and install the engine oil cooler (2).

• Tighten down screws (1).

TTiigghhtteenniinngg  ttoorrqquueess

EEnnggiinnee  ooiill  ccoooolleerr  oonn  bbuummppeerr  bbrraacckkeett

ttiigghhtteenniinngg  ttoorrqquuee
8Nm

AIR - Technical documents https://myair-bdr.bmwgroup.com/air/faces/xhtml/tdoc/TdocDocumentV...

4 of 7 10/22/2022, 12:13 AM

https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml
https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml


Nut M6

• Connect the lines (2).

• Tighten nuts (1).

TTiigghhtteenniinngg  ttoorrqquueess

LLiinneess  oonn  eennggiinnee  ooiill  ccoooolleerr

ttiigghhtteenniinngg  ttoorrqquuee
8Nm

• Renew the rivet (1).

PPaarrttss::  Rivet

• Install and rivet the damper (2).

Hexagon screw for
thermoplastic

Hexagon screw for
thermoplastic

• Tighten down screw (2).

TTiigghhtteenniinngg  ttoorrqquueess

LLiinnee  cclliipp  oonn  eennggiinnee  ooiill  ccoooolleerr

• Tighten down screws (1).

TTiigghhtteenniinngg  ttoorrqquueess

LLoowweerr  ssiiddee  ccoovveerr  aatt  ffrroonntt

ttiigghhtteenniinngg  ttoorrqquuee
3Nm

TTiigghhtteenniinngg  ttoorrqquuee
3Nm

AIR - Technical documents https://myair-bdr.bmwgroup.com/air/faces/xhtml/tdoc/TdocDocumentV...

5 of 7 10/22/2022, 12:13 AM

https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml
https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml


FFoollllooww--uupp  wwoorrkkss
IInnssttaallll  ffrroonntt  uunnddeerrbbooddyy  pprrootteeccttiioonn

Hexagon screw for
thermoplastic

Hexagon screw
M6x20

• VVeerrssiioonn  AA::

Feed in the front underbody protection (1) towards
the front under the bumper cover and position.

Tighten the screws (arrows).

TTiigghhtteenniinngg  ttoorrqquueess

UUnnddeerrbbooddyy  pprrootteeccttiioonn  ffrroonntt

ttiigghhtteenniinngg  ttoorrqquuee
2.6Nm

ttiigghhtteenniinngg  ttoorrqquuee
8Nm

Hexagon screw for
thermoplastic

Hexagon screw
M6x20

• VVeerrssiioonn  BB::

Feed in and position the front underbody protection
(1).

Tighten the screws (arrows).

TTiigghhtteenniinngg  ttoorrqquueess

UUnnddeerrbbooddyy  pprrootteeccttiioonn  ffrroonntt

ttiigghhtteenniinngg  ttoorrqquuee
2.6Nm

ttiigghhtteenniinngg  ttoorrqquuee
8Nm

AIR - Technical documents https://myair-bdr.bmwgroup.com/air/faces/xhtml/tdoc/TdocDocumentV...

6 of 7 10/22/2022, 12:13 AM

https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml
https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml


CChheecckk  eennggiinnee  ooiill  lleevveell
PPrreeccoonnddiittiioonn

Vehicle in horizontal position.

Hexagon screw for
thermoplastic

Hexagon screw
M6x20

• VVeerrssiioonn  CC::

Feed in and install front underbody protection (1).

Tighten screws (arrows).

TTiigghhtteenniinngg  ttoorrqquueess

UUnnddeerrbbooddyy  pprrootteeccttiioonn  ffrroonntt

ttiigghhtteenniinngg  ttoorrqquuee
2.6Nm

ttiigghhtteenniinngg  ttoorrqquuee
8Nm

Please comply with instructions in
Owner's Manual.

• Carry out an electronic oil measurement.

• Top up motor oil if necessary.

TTEECCHHNNIICCAALL  IINNFFOORRMMAATTIIOONN

AIR - Technical documents https://myair-bdr.bmwgroup.com/air/faces/xhtml/tdoc/TdocDocumentV...

7 of 7 10/22/2022, 12:13 AM

https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml
https://myair-bdr.bmwgroup.com/air/faces/xhtml/Start.xhtml

